K teme «Meton Diinepa» (BbIpOXKACHHBIE KOPHU U HEOAHOPOIHbIE YPaBHEHN)
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851. & = Ax, A= ([] 3

851. = = C1e® ()4 Cae* (9).

OTBCT.

If: = 3;}; — 2?’, — z,
807- ?}:3m_4y_353
z=2x —4y
OTBET: 807. ¢ = Clezt-l- Cae—ﬁt’
y = C2e®' + 3Cse™, 2z = (C1 — 2C3)e*" + 2Cs5e™™,
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8a9. J “ VTV o
= 2x — .
OTBCT:
849. x = C;cost + Cosint + t(cost + sint) + (cost — sint) In| cos |,
y = (C1 — C2) cost + (C1 + C2) sint + 2cost In| cost| + 2t sint.

r = 3x — 2y,
850. ¢ .
= 2x—y+15e Vi,

OTBCT. -
850. = = (C1 + 2Cat — 8t°/*)e’, .
y = (C1 + 2Cat — Cy — 8£°/% 4+ 10£%/%)e





